
 Social Sciences Concept and Social Work (BSW23-103) ALD – Set-II  1/1 

{QiH$ _hmamï´> {dÚmnrR>, nwUo 
g_mOH$m ©̀ {demaX (BACHLOR OF SOCIAL WORK) (B.S.W.)  

narjm : ‘o - 2024 
àW‘ gÌ 

{df` : g‘mOemó g§H$ënZm Am{U g‘mOH$m¶© (BSW23-103)  
{XZm§H$ : 28/05/2024 JwU: 30 doi: Xþ. 2.00 Vo  3.30 
gyMZm: 1) gd© àíZ A{Zdm ©̀.  

à.1 Jmiboë¶m OmJm ^am. (05) 

1. g§ñH¥$Vr {h ----------- {Z{‘©V Amho.  
 A) ‘mUyg  ~) Z¡g{J©H$  H$) A Am{U ~  S>) darbn¡H$s H$mhrhr Zmhr  

2. Hw$Qw>§~ ho ---------- da AmYm[aV AgVo.  
 A) ^mdZm  ~) {dœmg  H$) ZmVo S>) nmbH$   

3. ----------- ‘wio g‘mOmMo doJio nU {Q>Hy$Z amhVo.  
 A) g§ñH¥$Vr  ~) àWm  H$) na§nam S>) ‘yë¶o   

4. EH$ nwéf doir AZoH$ ñÌrer {ddmh H$aVmo Aem {ddmhmbm ------- Ago åhUVmV.  
 A) ~hþnËZr{ddh  ~) ~hþnËZrËd H$) A Am{U ~  S>) darbn¡H$s H$mhrhr Zmhr   

5. OmVrZo nyU©nUo à^m{dV Pmboë¶m J«m‘rU g‘mOmVrb ñWaaMZm {h -------- À¶m AmYm[aV 
AgVo. 

 

 A) OmV  ~) dJ© H$) dJ© Am{U OmV S>) darbn¡H$s H$mhrhr Zmhr  
   
   à.2 g{dñVa CÎmao {bhm. (H$moUVohr EH$) (10) 
 1) ~OoQ> åhUOo H$m¶? AW©g§H$ënr¶ YmoaUmMo àH$ma Am{U ‘hÎd WmoS>³¶mV ñnï> H$am.  
 2) gm‘m{OH$ g§ñWm§Mo {d{dY H$m¶} Am{U àH$ma g{dñVa ñnï> H$am.  
   
à.3  Q>rnm Úm. (H$moUË¶mhr VrZ)  (15) 

 1) amï´>r¶ CËnÞ åhUOo H$m¶?  
 2) gm‘m{OH$ ~Xb åhUOo H$m¶?  
 3) gm‘m{OH$ {Z¶§ÌUmMr g§H$ënZm   
 4) Hw$Qw>§~mMr ‘yb ŷV H$m¶}   
   
   

Q.1 

Sub : Social Sciences Concept and Social Work (BSW23-103) 

Instructions:  1) All questions are compulsory   

Fill in the blanks by choosing correct alternative (05) 
1. Culture is created by --------------- .  

 a ) Man  b) Natural  c) Both a & b d) None of the above   
2. Family is based on -------------.  

 a ) Feelings  b) Trust  c) Relationship  d) Parent   
3. Due to ------------- the differences of the society is survives.   

 a ) Culture  b) Custom  c) Tradition  d) Values   
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4. A marriage in which a man marries many women at the same time is called ----------.  
 a ) Polyandrous b) Polygamy c) Both a & b d) None of the above  

5. The stratification of rural society, which was completely influenced by caste, was 
based on ---------------. 

 

 a ) Caste  b) Class c) Class & Caste  d) None of the above  
   
Q.2 Answer in detail. (Any one) (10) 
 1) What do you mean by budget? Explain in brief types & importance of budget 

policy. 
 

 2) Elucidate in detail different functions and types of social institutions.  
   
Q.3 Write short notes. (Any three)  (15) 
 1) What do you mean by national income.  
 2) What do you mean by social change?  
 3) Concept of social control.  
 4) Basic functions of family.   
   

 
-------------------- 


